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= 9,759,450 10,184,489 A425,039
= 4,467,955 4,511,455 243,500
z 871,000 871,000 0
2l 172,500 172,500 0
[ 1,416,948 1,429,998 13,050
Al 2,831,047 3,199,536 368,489
=N 2&F e 2,812,540 3,100,540 283,000
= 46,420 46,420 0
= 871,000 871,000 0
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Al 1,059,514 1,347,514 283,000
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501 &4t=2 72,000 360,000 /283,000
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QU ERR S3UU= di=2s= N 72,000 360,000 288,000
SSTFHEI XY 907,628 927,628 20,000
< 126,150 126,150 0
Al 781,478 801,478 £20,000
SSFHEIY S3xH 907,628 927,628 £20,000
< 126,150 126,150 0
Al 781,478 801,478 £20,000
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< 75,000 75,000 0
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202 04t 25,700 32,700 27,000
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OdAsl H2FA 19,300 26,300 27,000
=HS0 5,526,919 5,613,919 87,000
= 4,421,535 4,465,035 243,500
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= 552,692 565,742 213,050
552,692 583,142 230,450
5,526,919 5,613,919 287,000
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S 552,692 565,742 A13,050
Al 552,692 583,142 30,450
0 87,000 /87,000
= 0 43,500 A\43,500
S 0 13,050 A13,050
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= 0 43,500 243,500
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= 0 43,500 A\43,500
S 0 13,050 13,050
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